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Answers and commentaries 
 

 
 
Question 1 
With reference to these sources and your understanding of the historical context, assess the 
value of these three sources to an historian studying the political leadership of the satellite 
states in c1971. 

[30 marks] 
 

Mark scheme  
L5: Shows a very good understanding of all three sources in relation to both content and  

provenance and combines this with a strong awareness of the historical context to 
present a balanced argument on their value for the particular purpose given in the 
question. The answer will convey a substantiated judgement. The response 
demonstrates a very good understanding of context.            25-30 

 
L4: Shows a good understanding of all three sources in relation to both content and  

provenance and combines this with an awareness of the historical context to provide a 
balanced argument on their value for the particular purpose given in the question. 
Judgements may, however, be partial or limited in substantiation. The response 
demonstrates a good understanding of context.             19-24 

 
L3: Shows some understanding of all three sources in relation to both content and  

provenance together with some awareness of the historical context. There may, 
however, be some imbalance in the degree of breadth and depth of comment offered 
on all three sources and the analysis may not be fully convincing. The answer will make 
some attempt to consider the value of the sources for the particular purpose given in 
the question. The response demonstrates an understanding of context.                  13-18 

 
L2: The answer will be partial. It may, for example, provide some comment on the value of  

the sources for the particular purpose given in the question but only address one or 
two of the sources, or focus exclusively on content (or provenance), or it may consider 
all three sources but fail to address the value of the sources for the particular purpose 
given in the question. The response demonstrates some understanding of context. 

7-12 
 
  

Please note that these responses have been reproduced exactly as they were written by 
the student. 
 
This resource is to be used alongside the A-level History Component 2T The Crisis of 
Communism: the USSR and the Soviet Empire, 1953–2000 June 2022 Question paper and 
inserts.   
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L1: The answer will offer some comment on the value of at least one source in relation to  
the purpose given in the question but the response will be limited and may be partially 
inaccurate. Comments are likely to be unsupported, vague or generalist. The response 
demonstrates limited understanding of context.                 1-6 
 
Nothing worthy of credit.           0 
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Student responses 
 
Response A 
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This is a Level 5 response 

This script maintains a very good focus on the issue of political leadership and offers a 
thoughtful and well-balanced assessment of the sources. A strong awareness of the 
historical context is evident in both the assessment of the provenance and the content of 
the sources. For example there is a thoughtful comment on the extent of knowledge a 
foreign correspondent would have due to the secretive nature of politics in Czechoslovakia 
(Source A). Knowledge of the historical context is used to both challenge and support the 
content of the sources, for example in the assessment of Source B. The script shows a 
sensitive awareness of the problematic nature of all the sources. There is very good 
understanding of the sources and the historical context. 
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Response B 
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This is a Level 3 response 

This script has made selections from the content of each of the sources to comment on 
the issue, although the overall understanding of the sources is not secure. There is some 
comment on provenance but the judgements of value of provenance are not convincing.  
For example, there are dubious suggestions about the value of Source A. The content of 
the source is seen as valuable regarding Husak’s relationship with Brezhnev, and this is 
supported from context. The commentary on Source B is stronger on the provenance, 
which is recognised as propaganda, than it is on the content of the source. The comments 
on Source C show contextual knowledge of Gomulka but lose the focus on political 
leadership. Overall, the script shows some understanding of all three sources in relation to 
content and provenance, and some awareness of the historical context. 
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Question 3 
How effectively did Khrushchev ‘de-Stalinise’ the USSR in the years 1956 to 1964? 

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.            21-25 

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16-20 
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.          11-15 

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.              6-10 

 
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment.  1-5 
 
Nothing worthy of credit.           0 
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Student responses 
 
Response A 
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This is a Level 4 response 

The answer is analytical and displays a good understanding of the demands of the 
question. There is clear and specific supporting information which underpin a balanced 
response. The answer has some limitation as to range as it does not consider the cultural 
aspects of de-Stalinisation. Key areas which are covered include the impact of the secret 
speech, the control of the power of the KGB, the dismantling of the Stalin cult and the 
attempt to share power with the regions. These areas are evaluated with some analytical 
comment. The overall judgement has balance, stating that ‘people were definitely freer… 
however Khrushchev was unable to remove some of the fundamentals of Stalinism.’ The 
concluding comment that people were still not free to criticise could have been more 
effectively supported with commentary on the extent of cultural change, for example 
freedom for writers and artists. 
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Response B 
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This is a Level 3 response 

This script shows some understanding of the issue and responds with some range but 
with an over-concentration on the extent of economic change. There is an awareness of 
the secret speech and the dismantling of the cult but the supporting information is quite 
general. The cultural changes are mentioned in passing but not developed. For example 
the comment on the impact of the ‘thaw’ lacks exemplification. More detail is offered on 
the continuity of economic policy and the difficulties Khrushchev encountered in 
decentralisation. The overall judgement has focus on the question but is quite general. 
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